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1 1 |[101ZBEM=E BERE 20| 109 m 6, 000
1 1 [1025rEEBRE HERE 50&| 88 m 6, 000
1 1 [103/rEEBRE HERE 50&| 88 m 6, 000
1 1 |104=xREGHE=E RE=E 504 | 167 m 9,000
1 1 (105N ERE= EE=E 226 m 9,000
1 1 [T06AARE= REE 50| 115 m 9,000
1 1 |[107@RAFHRE Z Dtk 145 m 6, 000
1 1 |108{AF£E ZDfth 885 m 18, 000
1 1 [128BZ ZDfth 408 m 9,000
1 2 |201pEREBE EE=E 169 m 9,000
1 2 (2028 /hEEE EE=E 172 m 9,000
1 2 [203EFEEE EE=E 393 m 9,000
1 2 |206=&=E REE 40| 107 m 9,000
1 3 [0IBRE BERE 804 | 140 m 9,000
1 3 [302FBE=E HERE 804&| 141 m 9,000
1 3 [303FBHRE AERE 804 141 m 9,000
1 3 [306EE=E EEE 62| 17 m 3,000
1 3 [B07TEE=E BEE 62| 17 m 3,000
1 3 |308EE=E EEE 6&( 17 m 3,000
1 3 |309EE=E EEE 6&( 17 m 3,000
1 3 |SI0EE=E HEE 164 33 m 3,000
2 1 [152FBE=E BEE| 1304 221 m 14, 000
2 1 [162/hEER=E BERE 164 30 m 3,000
2 1 [163/NER=E ERE 164 30 m 3,000
2 1 |164/hGEE AERE 168 32 m 3,000
2 1 [159EREMERE - REE REE 142| 83 m 9,000
2 2 |252FBR=E EERE| 1304 21 m 14,000
2 2 |253FBERE AERE 804 | 150 m 9,000
2 2 [256E == BEE 8% 22 m 3,000
2 2 [257E == EEE 8% 20 m 3,000
2 2 |258€ == EEE 8% 20 m 3,000
2 2 (259t == EEE 8% 20 m 3,000
2 2 |260€ == EEE 8% 20 m 3,000
2 2 [261E=z= BEE 8% 20 m 3,000
2 2 |262€ == HEE 8% 20 m 3,000
2 2 (263E€ == HEE 8% 20 m 3,000
2 2 |264€ == EEE 8% 20 m 3,000
2 2 |265€ == EEE 8% 22 m 3,000
2 3 [362%E=E SEE 16| 74 m 9,000
2 3 [3/v1E==E HEE 8% 22 m 3,000
2 3 [3b2E=z=E EEE 8% 20 m 3,000
2 3 (353t == EEE 8% 20 m 3,000
2 3 [3b4tE=z=E BEE 8% 20 m 3,000
2 3 [355tE == EEE 8% 20 m 3,000
B4t TS0 UFk Z Db 10, 000
4t T=X3a—+ ZDfth 5,000
ftt B HEmEH 18 300 x & HH#AM
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EEBEL—Y(0ET) TR (AR EE K 600
EEEHAD/AN— (10FT) TR L (AR EE K 200
ZREAGE (£BHA) 1HE{f 5 000/ 5,000
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